202041 0H1 5 H&ZMY3 (HEMZEHY) BEER 1

§4. F—EAXTER

RN ORI O EEHIE 2 RITD XY FIVER]E 2 208, HICHRGBNEZEZ 5 2 £8T
5. 202 ofiEIINLTHFEAEALE I DDEED L Z EVBTE 5. i

p:D—R3
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IT = {p(uo,v0) + pu(to, v0)(u — o) + pu(uo, vo)(v — vo) | (u,v) € R}
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{pu(tg, vo)u + py(ug, vo)v | (u,v) € R?}
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RS OREHERRE (| ) 20T,

Pu(to, vo)ur + pu(uo, vo)v1, putio, vo)us + pu(uo, vo)ve € II - ((ug,v1), (u2,v2) € R2)

WX LT,
(pu(uo, vo)ur + py(uo, vo)v1, Pu(o, vo)us + py(uo, vo)ve) € R
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v : [a,b] = R?
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7(t) = plu(t),v(t)) (& € [a,b])

ERTILENTES. AMBBDOHTELD,

Y = putt + Py
26, R
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DEEZE,
u =u(c), v =70(c)
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Y(e) = pu(uo, vo)ur + pu(uo, vo)v1
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1901% = (pute + po, putt + pud)
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E= <pu>pu>7 F= <pu7p’v>7 G = <pvapv>
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FoXoEohEiiEHL,
I = Edu® + 2F dudv + G dv?
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Bla1 BB 7 7%
p(u,v) = (u,v, f(u,v)) ((u,v) € D)
EERLTELL,
pu= (1,0, fu), po=1(0,1,f)
Thb. £o7T,
(Pospo) =1+ [}

<puapu> =1+ fia <pu7pv> = fufm
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X LT, ||pu X pol| dudv ZTHIFEEEFR £\ 9. F 7o, IEEEL D CHEED WL L E, Thbb,

/ / 1pu % poll dudv € R
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VEG — F2dudv = /(1 + f2)(1 + f2) — (fufs)? dudv
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1.a,b,c>0&F 2%, MmO
p:D—R3
%
D = (0,7) x (0,27),
p(u,v) = (asinucosv,bsinusinv, ccosu) ((u,v) € D)

WL DED, p DE—FEATEX %
E du? + 2F dudv + G dv*
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v(t) = (f(t),9(t) (te€l)
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p:D—R3

D=1 x[0,2n],

p(u,v) = (f(u) cosv, f(u)sinv, g(u)) ((v,v) € D)
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pu = (acosucosv,bcosusinv, —csinu), p, = (—asinusinv, bsinu cosv,0)
Thb. o7,
E = (pu,pu)
= a” cos® ucos® v + b% cos? usin® v 4 ¢ sin® ,
= (pu, pu)
= (b* — a*) cos usinu cosvsin v,
G = (po, pv)
= a?sin® usin? v + b?sin® u cos? v
TH5.

2. (1) (u,v) € DITXL T,

z(u,v) = f(u)cosv, y(u,v) = f(u)sinv, z(u,v) = g(u)

EEL L,
xy = f'(u)cosv, y,= f'(u)sinv, z,=4g(u),
x, = —f(u)sinv, vy, = f(u)cosv, z,=0
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A= f(u)f'(u), B=—f(u)g(u)cosv, C=—Ff(u)g'(u)sinv
TH5. yIIEAITHD, fIF0 L3500 5,
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